Efficiency vs dr

r 1.2
3 L
” L
2 L
> 1-
[5) L
< L
< B
o
£ 0.8
[}
0.6~
0.4
0.2
O ‘G_ I +
=1 o —s— DQMstep3_SoftQCD_CKF
g 2F- - | —— DQMstep3_SoftQCD_default
= —— DQMstep3_SoftQCD_defaultNEWT2
L5F- - i ] it af 1
107 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.05
n0.045
=
o
<]0.04
9.035
>
20.03
Q
:-'=0.025
3]
0.02
0.015
0.0
0.005
0

Ratio

15

1073 1072 107t
AR(TP, jet)

Efficiency vs pu

-0.05
o O VNN VO A
s T A S R e e

..............................................

O O SO SO S
0 2 4 6 8 10 12 14 16 18 20
Pileup




	Contents
	Page 1


